AB Calculus Ch 8 MC Review SHOW WORK on your own paper!! NO Calculator
No work = No credit

1. What is the area of the region between the graphs of y =x* and y =—x from x=0to x=2 ?

2 8 14 10
a) — b) — c) 4 d — e) —
)3 )3 ) )3 )3

2. The area of the region enclosed by the graph of y = x*+1 and the line y =5 is
14 16 32

28

3. If the region enclosed by the y-axis, the line y = 2, and the curve y = JX is revolved about the y-axis, the
volume of the solid generated is

32 167 167 87
a) — b) — c) — d — e
) c ) 3 ) 3 ) 3 ) 7

4. Which of the following represent the area of the shaded region in the

figure above? dr 'm" “\'\ 1
L | j - -I'{ .
a) Ld f (y)dy b) j:(d — f(x))dx ) _W w-HI —y =f(x)

c) f'(b)—f'(a) d) (b—a)[ f(b)-f(a)] *
e) (d—c)[ f(b)—f(a)] S T

. 1 . .
5. The area of the region enclosed by the curve y = 1 the x-axis, and the lines x = 3

andx=4is a) > b) Ing C) Ini d) InE e) In6
36 3 3 2

6. The region enclosed by the x-axis, the line x = 3, and the curve y = JX is rotated about the x-axis. What is the
volume of the solid generated?

a) 37 b) 2437 c) %7: d) 97 e) @7[

7. The area of the region enclosed by the graphs of y = x and y = x* —=3x+3 is

2 4 14

8. The area of the shaded region in the figure above is represented by
which of the following integrals?

a) [ (f (0] -lg(x)dx b) [ f (x)dx—[ “g(x)ax
o) [ (9~ f(0)dxe) [ (F()-g(x))dx o
) (93~ f ()dx-+ [ (f(x)-g(x)dx
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9. Find the area of the region whose boundaries are y* =x and x+y=2.
5 3 11 9 29

a) — b) — c) — d) — e) —

) > ) > ) 5 ) > ) 5

10. Find the area of the region whose boundaries are the parabolas x = y* =5y and x =3y —y?.

a) g b) @ C) % d) % e) none of these
3 6 3 3

11. Find the area of the region whose boundaries are in the first quadrant, bounded below by the x-axis and above
by the curves of y=sinx and y=CO0SX.

a)2-2  b)2+2 c) 2 d) V2 e) 22
12. Find the area of the region which is bounded above by y =sin x and below by y =cosx from x = z to

5x 2 1
_> £ = J2 - 22 +1
X 7 a) 22 b)zﬁ C)zﬁ d) 2(v2-1) e) 2(v2+1)

13. The area of the region bounded by the curve of y= x* —2x* —3x and the x-axis is equal to

28 79 45 71
A) — B) — C) — D) — E) None of these
(A) 3 (B) 5 © 2 (D) 5 (E)
14. The total area bounded by the cubic X = y* —y and the line x = 3y is equal to
16 32
(A) 4 (B) 3 € 8 (D) 3 (E) 16

For #17 — 20, the region whose boundaries are given is rotated about the line indicated. Choose the answer which
gives the volume of the solid generated.

15. y = x*,x =2, and y =0 about the x-axis.

64rx 32r 87 1287
(A) 3 (B) = (C)? (D)T (B)8r
16. y = x*,x =2, and y = 0 about the y-axis.
W ®ma O os OF
17. y = x*,x = 2, and y=0 about the line x =2.
war  ® ©Z o ®

18. The first quadrant region bounded by y = x?, the y-axis, and y=4; about the y-axis.
64r 32r 167
(A) 87 (B) 4x © 3 (D) 3 (E) =
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19. y =3x—x*and y = x about the x-axis.
3/2

2 2
(A) 7 j [(3x— x%)? — x2]dx (B) j (9x% — 6x%)dx ©) j [(3x— x?)? — x*]dX
0 0 0
3 3
(D) 7 [[(3x—x*)* —x*]dx (E) 7 [ (2x—x*)"dx
0 0

20. The base of a solid is a circle of radius a, and every plane section perpendicular to a diameter is a square. The
solid has volume

8 3 3 3 E 3 8_7[ 3
(A) ga (B) 27a (C) 4ra (D) 3 a (E) 3 a

21. The base of a solid is the region bounded by the parabola x> =8y and the line y = 4, and each plane section
perpendicular to the y-axis is an equilateral triangle. The volume of the solid is

64+/3

== ® 643  (C) 323 (D) 32 (E) None of these

Calculator Section:

22. The area bounded by y =e*,y =1,y =2and x =3is equal to

(A) 3+In2  (B)3-3In3 (C)4+In2 (D)3—%In22(E)4—In4

23. The base of a solid is a region in the first quadrant bounded by the x-axis, the y-axis, and the line X+2y =8.

If cross sections of the solid perpendicular to the x-axis are semicircles, what is the volume of the solid?
(A) 12.566 (B) 14.661 (C) 16.775 (D) 67.021 (E) 134.041

24. What is the area of the region in the first quadrant enclosed by the graphs of y =cosX, y =X, and the y-axis?
(A) 0.127 (B) 0.385 (C) 0.400 (D) 0.600 (E) 0.947

25. The base of a solid S is the region enclosed by the graph of y =+/In X , the line x = e, and the x-axis. If the
cross sections of S perpendicular to the x-axis are squares, then the volume of S is

1 2 1,
(A) > (B) 3 © 1 (D)2 (B 5(9 1)

Multiple Choice Answers:

1.D 2.D 3.A 4. B 5.D 6.C

7. C 8. D 9.D 10. C 11. A 12. A

13.D 14.C 15.B 16.D 17.C 18. A

19. C 20.D 21. B 22. E 23.C 24. C 25. C
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Ab Calculus Ch 8 FRQ Review = SHOW WORK on your own paper. No Work = No Credit

1
1. Find the area bounded by Yy = & x=4 and x=5,

2. Find the areabounded by x=y*+1 and Xx=y+3.

3. Find the area bounded by Y = e, y= e? and x=0.

4. Let R be the region bounded by y = JX, y=0 and x=9. Find the value of k such that the line x=k
divides the region R into two regions of equal area.

5. Find the volume of the solid bounded by the region y=x, y=0 and x=4 revolved about

a) the x-axis b) the y-axis c) theline x=4

6. Find the volume of the solid bounded by the region y=+/x, y=2 and x=0 revolved about

a) the x-axis b) theline y=2

7. Find the volume of the solid bounded by the region y=¢e™, y=0, x=0 and x =1 revolved about the
X-axis.

8. Find the volume of the solid whose base is bounded by y =2sinx, y=0 for 0<x <, with the
indicated cross sections taken perpendicular to the x-axis.

a) squares b) semicircles c) equilateral triangles

Chapter 8 Review Answers:

1. 9/800 2. 45 3. e+1 4. (Zy =23 5. a. =%
5. a? b 127 %7 6. a. 8z b. % 7.5

3 3 3 < 8=

2
8. a2r b ¢ ﬁﬂ'

4 2
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